20258 =04t

A £ 0 & A

2etsl OXNEZE M

Al A

SN OXZRUY
M AOEAIEl 243
&2l AOKEAIEl 2= (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
CIXIE &=t 3,556,901 4,158,808 AB01,907
& 68,414
Al 3,488,487
ADIEAIEl 435t 272,013 369,325 A97,312
ADIEAIE 25 272,013 319,247 AN47,234
ABIXZSE ADIEAIE 2= 213,713 263,447 AN49,734
201 B2 AL| 201,853 211,117 AN9,264
01 AtR2elt] 144,267 139,135 5,132
OADIEAIEl 2t B2AME FX= 28t 2
M= ME 324,000 »23| 648
OADIEAIE &A= HE A}S =%
100,000 *8H*13] 800
OAOIEAE SRFH ARSE L AIRES
04 250,000& *43| 1,000
OALDIEAIEl SRFE SAH|
9,000 x3H 62«12 1,944
OALOIEAIE &% HMZ
500,000&*13] 500
OADIEAAE SEIAL 2 AIZEH|
1,659,000 *53| 8,29
OHASZE JFUHE )| RAE=>
40,0003 *160H A+ 12 7,680
OO SHFEX &L ADEA
AE FXE 1,620,000 128 19,440
OMIINSHFA ST HE ADNEA
A8 SXNE+ 3,333,330 128 40,000
OADIE EAAN MHIA ALEZ
330,000& 123 3,960
QYN ADIE AAE S22
5,000,000 x7& 35,000
OAYLIR AIAE SR
2,083,330 123 25,000
02 B22gH| 57,586 71,982 A14,39%
OADIEAIME SHR= 28,501
—A0IEAIAE MESM S4& ALER3
1,320,000 *13| &+ 12& 15,840
—SZAIGIOIH =&E4dM L OIMEX dSS
St AIBR3 5,500&*x93] & x 123 54
—ZOeIF=R7Y EHFEX S AOE
ANAE BREY S422
44002 +633| & x 128 3,327
—MI|IXESHFY SHFEX S A0
ZHAIAEH SRS
341,000 x13| &+ 123 4,092
—HIIXEEAE SYHFEI &5 AL
ANAE SEEX SHea
4,400 +263| S+ 12& 1,373




2A:

CINEE 21t

HH: ADIEAIE 243
&2l AOKEAIEl 2= (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—A0IEE SHRS
4,950 +73| S+ 128 416
—CCIV SeIR= 71, 7753+23| 8+ 128 1,723
—ANtEAIEE 2N SHe3
72,6002 %13 &1 122 872
— AL HOPC S422
22,0003 13| &+ 122 264
OADIEANY HIIR= 23,520
~HINEWRY BUFT DA ADE
Al)\E‘H I-]jlg:.
80,000 *8Il A+ 12 7,680
—2LS dFE MRS
1,245,000 * 10 2% 123 14,940
25,0003 +*3 L+ 122 900
OADIEAIME AIEES
2,782,500 *23| 5,565
202 04d| 1,860 2,280 A420
01 =W OdbI 1,860 2,280 A420
OADIEAIE| HET A0
60,000 *x3H x4 3] 720
OADIEAIEl AL &4
60,0003 *3H*33| 540
OBTAIY 57 93 &4 U A5
60,0002 x2H 53| 600
401 AIEHIZL20Hb] 10,000 50,050 A40,050
01 Al&HI 10,000 50,050 240,050
OADIEAIEE |2l SA
2,000,000&*55+13] 10,000
CIXIE+X & Dl=XId & OI0IH d2e1e 2H A S 58,300 55,800 2,500
307 QI2Hol ™ 58,300 55,800 2,500
02 QIZtBAAIHE R 58,300 55,800 2,500
OUXNE+HX &tF Jl=X& & Hole d2¢l
S 2 At 58,300,000 *13] 58,300
st H Lt 2,983,606 3,464,410 A480,804
& 47,025
Al 2,936,581
HESNE 25 & 22 1,541,248 1,858,383 A317,135
& 47,025
Al 1,494,223
FBSAIE &5 Y D& 217,000 217,000 0
401 Al&HIZ 20| 100,000 100,000
01 AlEHI 100,000 100,000
HESAY FH| SA 100,000
—HHFYBEYL 2=
5,000,000& *10JH 2 50,000




2A:

H:
el HESAE 5 2 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—dHslEAY &
5,000,000 * 1001 2 50,000
405 KHoHFSHI 117,000 117,000
01 ML ESFSHI 117,000 117,000
OgdYEFE M| 7Y 50,000
— IPTE S| 500,000 »100CH 50,000
OHIIEZSUYE A9XsE 2 67,000
—HIYHEL HHES(2port)
3,000,000 = 12CH 36,000
—HHYEY ZHHE(8port)
775,000 *40CH 31,000
Lol e FXl2el 1,136,148 1,322,033 185,885
201 2= 1,130,628 1,315,133 184,505
01 At2t2lt] 312,658 308,879 3,779
Oddd=ESMY FA2e] 125,853
—SEANYEEAY
832,300, 000& *7% 58,261
~HEAIFI HOIAIAE
121,800,000 7% 8,526
— EQHAI A 703,700,000 * 7% 49,259
—JIEtAIE 140,100, 000& 7% 9,807
Oogddaty =Al2el 72,450
— &3t WEAIAE 251,200,000 * 7% 17,584
—ASHS, A A
300,000& *2,000CH* 7% 42,000
—=FAIAHE 52,000,000& *7% 3,640
—ZHE ALY 47,000,000 *7% 3,290
— S AR AE 66,000,000 7% 4,620
—ENSEAIAE 18,800,000 *7% 1,316
Ogsdtl |2l 37,254
—HUESAIAE 188,000, 000& *7% 13,160
—SHHSTHI(SHS A A)
233,900,000 * 7% 16,373
—SUgE(0 - 23124)
110,300,000 *7% 7,721
O3320ITH0l RAl2tel 62,832
—=&Al SS20[L0]
569,700,000 *7% 39,879
—d3AA0E, LA N6BE
175,900,000 *7% 12,313
—SEZUHEY &=4
106,400,000 *10% 10,640
OStd & 3od 29 7,200
—U, 23294 425 FY
1,000,000 *42] 4,000




2A:

Hu: Hos o2 23
=@t HESNE 25 2 22 (EEEE))
SA - B S (3H) - MISAY - B2 ofl aro G o HDE2
—EAA ADE DY
400,000 *43] 1,600
—Shla ARES 2
400,000 43| 1,600
O8% ot Zgn sa2
1,799,000& *13] 1,79
OB JHot Zar HIIPA 4
220,000/ x8H 1,760
O QAL S/W 21| 450,000 & *3= 1,350
OSHAA SRF=X S|
9,000 *x203|x 128 2,160
02 B22ZH| 817,970 1,006,254 188,284
OMHEHLBEAL AISS 352,790
—Al - S #Eo|DY ABR
1,600,000& x7& 11,200
—S8Hs 2 AIHA 234 (10M)
410,000 «503| M x7El 143,500
—SHS L AIHA HZ5H (M)
251,000 *x323| & +7& 56,224
—SHsS 2 AIHA 236 (M)
170,000 +523| M«7& 61,880
—S0Hs 2 AIHA H23|4A(IM)
153,000& *383| M *7& 40,698
—SHSES 2 AHA HZEH(512K)
114,000+ 153 & x 128 20,520
—SHSES 2 AHA M3 (256K)
68,0002 x233| &+ 122 18,768
OHEFNZIUY AES 227,040
—S08E 2 AIA 23K (9.6K)
24, 000& x2703| &+ 128 77,760
—SiAl S AIEH
120,000& +33| x 128 4,320
—HHNFI MEFH
800,000& 12 9,600
—gurdEs 3
32,0003 x1203| &= 12& 46,080
—SUNE 23
62,000 «1203| &+ 122 89,280
OZZ2210|010] AIE= 103,800
—33&4A 2320(TH0| 3d
33,000 x643| &+ 1228 25,344
—AILHHA B3 20(TH0| 3ld
33,000& x176CH*x 128 69,696
—=23& 2220/1It0] 3lM
730,000 128 8,760
ONSL Az 35,000 *163| &+ 12& 6,720
OAEZE0 EUE 22 0l2e=2
1,020,000& =128 12,240




S CIXE R
mE: o5 A2 Usl

el HESAE 5 2 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMEHol & AIZeH 22X 0182=
3.,000,000& *12& 36,000
ogg=zx 0lgks
790,000 #4042+ 123 37,920
OFPELAIL ST2
4,700,000 32 14,100
OoAgdge=d e 0182=
140,000 3CH* 12 5,040
OM:el fgddat 018ks
56,0002 23] & x12& 1,320
OJoIE vV olgR= 250,000 * 122 3,000
O8G 22 AlZs 2,250,000 «8& 18,000
202 04l 1,920 2,400 A480
01 =LHA LI 1,920 2,400 A480
OZESH uU=s & 39
60,0002 3 #43] 720
OFESH 29 Y2
60,0003 x3& *43] 720
OFESH ML & f3s
60,0003 x2& *43] 480
206 M=l 3,600 4,500 A900
01 MZH| 3,600 4,500 A900
Osgd2sad 7A2c I 2
1,200,000 %32 3,600
S3T4 R F= gz 188,100 188,100 0
[ 47,025
Al 141,075
201 Ler23 | 188,100 188,100 0
= 47,025
Al 141,075
2 s5=4g4l 188,100 188,100 0
ORZHASHIHY 7= BME
33,0008 #4753 6123 188,100
= 47,025
Al 141,075
dEANAE =2E 2d3t 1,287,135 1,338,928 A51,793
F2ANAY 2 2 1,287,135 1,318,928 A31,793
201 =3 749,668 827,975 AT8,307
01 At22t2l] 635,488 700,921 65,433
OF@EsHa Wel0|CI0f 72
200,000 *307HK 6,000
OZge A28 #¢ 6,094
—S8e0IN 275,000 +7CH*23 3,850
—ZolN 561,000 x25+23] 2,244
Onletal SAEX S 785,000 12 785




2A:

M Mgl o2 23
Gl FEAAE 2 2435t (Et9 &
~ _ q 4
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OFE AZEFN AL=E 2lold A 2
257,903,000& 1= 257,903
OQEYANHIA =22 1,700
—QlHS EHe AIE =2
1,700,0002 %12 1,700
ORI & HY 442
500,000 *37H 1,500
OZHOIX #2825 &0 &5
2,500,000& %12 2,500
OZSHOIXl X2H= ME AUlA 013 &5
2,000,000& %12 2,000
OZHIOIXl &AIZ HS MHIA A E=
2,500,000& 12942 30,000
OL% AEH YIA0ISE S8 SO 7
157,000 *54H 8,478
OTHI =X A
9,000 x3+8L « 12 2,592
O& &I FXl2el 93,044
—&d=H 1,000,000 *1,884CH*4.35% 81,954
—2Z2LIE 250,000 *1,497CH+*2. 5% 9,357
—Zelf 250,000 «6LH*1. 5% 23
—-LES 1,500,000 «114CH= 1% 1,710
O=&L| FAl2cl 35,569
—EMHI0IXl JtasH(HN)
190,390, 5002 *7%+6/ 1291 2 6,664
—SHI0IXl JtatsH(SW)
114,865, 2202 *12%+6/ 1294 2 6.892
— &3t 33,439, 2008 *7%+6/ 1204 2 1,171
— &Yt 43,000, 0002 +7%+6/ 120 & 1,505
—DNS 13,999, 7002 *7%+6/ 12942 490
—ANHE AAX
24,460, 0003 *7%+6/ 1294 2 857
—0B F2HIOf X ZE(HN)
17,680, 0002 *7%+6/ 1204 2 619
—0B 20T X ZE (W)
26,930,0002 «12%+6/ 1274 2 1,616
—2UeAIAE (HY)
260,525, 0002 *8%+6/ 1291 2 10,421
—2LIStAIAE(SW)
101,592,400 *10.5%+6/ 1224 5,334
OADEF A= A2 1,771
—HW 71,581,800& * 7% 5,011
=3 56,330,710 *12% 6,760
OUll&I M = X2l 40,475,000 *12% 4,857
OSHIOIXl SO =Al2tel
20,000,000 *12% 2,400




A CINEE ML
mm: ms o2 2s)
Chel: HEAAY 29 BA s (SHol: )
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
O& LA AH|2e|AIAE SX2el
30,540,000 *12% 3,665
O& et JIBIAIE X2t 10,961
—g=2gsl 30,999,380 *3CH*7% 6,510
—LHHAAFE
31,787,000 »2CH*7% 4,451
Ot =3 A2IItE F X2
312,620,000 *15% 46,893
OzE&Y, SOISSNAME SHOX 8
A2t (76,492,000& +20,425,0002 )*15% 14,538
OAl EHI0IXl & =& SHIOIXl X2
el 235,080,000 *15% 35,262
OXAU EMRS HSH AIAE RX2e
2,000,000& 1= 2,000
O=&8= 2.0 8 =22
7,793,000 14 7,793
OdE ScRSEAIAE |22 20,345
—HN 213,040,000 * 7% 14,913
=3 45,260,000 *12% 5,432
OXsE AOIHRIE HEAAE SXES
89, 100,000& »13% 11,583
OANIEEESRAIAH S 8,490
—HW 43,279,500 * 7% 3,030
=3 42,000,000 *13% 5,460
OUSB 2RI 2eIAAE FX22
45,100,000 *15% 6,765
02 3224l 114,180 127,054 N12,874
OZ3JIEt S FHLD| SHSE 8,044
-2 &£ 5,124,000 14! 5,124
—AEClXl B4 1,460,000 24! 2,920
O&eta JIgtAIE 4225 uX|
2,258,000& %14 2,258
OME XL JFUHE 25 AIER
66,0002 * 12JH 792
OZHOIX FUE 15 AIEZ
300,000 * 1204 3,600
O=2-Uct 281 BHE PC AL EZ
50,0002 «12JH 2 600
OZHI0IX 2XLSAHIA AIER
400,000& *12J0 2 4,800
O2cREERE s UXNEANHIA 0122
15,681,000& 601 & 94,086
202 044l 1,800 2,340 AD40
01 =LHO LI 1,800 2,340 AB540
OZHI0IXl, 2LIetAIAE s 2 39
60,0003 »2& =22 240




B%:—i X*EAI&%?%% 23t EEREE)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OHHHBAIAHE Ws Y 3|9
60,0003 *3H *23| 360
OAE Mz IS
60,0003 *3H *43| 720
OHENEIAYE & FRC2EH 23 39
60,0002 x3H 23| 360
OZHIOIX wu=s ¥ 39
60,0002 x2H 13| 120
207 A OHEH| 30,000 30,000
02 HAHHE| 30,000 30,000
O&=&Al EHOIXI JIsSHA
30,000,000 *13 30,000
308 AXIEHMSOIN 125,667 124,967 700
13 SI|2ASHICHEHZ A E L EFALH] 125,667 124,967 700
OB HBAIAE MHHIA HAT 29Y
7,000,000&x14 7,000
O3SIIBAIAE(51EB), Moi=ST7AIAE(0S
) 95,567,000 1= %,567
O=2-Litet & 2HMFSAIAE RAEs
23,100,000& 1 23,100
405 KHHESH| 380,000 363,646 16,354
01 ML =EEFHSHI 380,000 363,646 16,354
OHFADD] 2 380,000
—gA3asE 1,220,000 *250CH 305,000
—2LIH 300,000 *250CH 75,000
NsEELs I8 =4 155,223 267,099 A111,876
83 u=s 29 47,886 70,186 A22,300
201 B2 AY| 7,846 17,106 A9,260
01 ArR22ltl 6,400 15,660 A9,260
OEESU=EE 29 228 7¢
300,000 *2IH 2 *43| 2,400
OAIZl EEstns WM 2
10,0003 #4572 x2E+23| 1,800
OAl2l H85tHs EE2 HE
500,000 *23| 1,000
OB usd Fx 829
600,000& *23] 1,200
02 32| 1,446 1,446 0
Od& =T PC EHI
13,9002 x26CH *4 3| 1,446
301 LB F 40,040 38,080 1,960
14 JIEt2 43 40,040 38,080 1,960
OFEstNE Hetus 2A =2
1,200,000&x2Z*11& 26,400
O&EEsNE E2 ZAM=H
320,000 *23] 640




2A:

Hu: Hos o2 23
&elr ANsEEE I8t =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OX0bte HE3ns LAY
30,000& +83|x2Z+10& 4,800
ONeIsE & FEES A=Y
600,000 *23] 1,200
OUXIELD s A =&
500,000 *42] 2,000
QU0 Y 2aAtefl QIMEIE 5,000
—x ey 1,500,000& 1A 1,500
— Ry 1,000,000 x224 2,000
-y 500,000 324 1,500
NsE2s g3 =8 107,337 168,220 260,883
201 er2 3| 97,777 163,580 65,803
01 At2t2lt] 79,777 108,731 N\28,954
O=UI0IE AZEN H2F 2Ol A 2
942,000 124 942
OXsEEst AMEAH=AN &2t
11,0003 502 550
OXNs8es Ads &4 &
100,0003 9 »23] 1,800
O E H£)|5 SSAALE AL
= 148,867 ,000& *13% 19,353
OYREC NAUEEES AIAE SXEx 7,953
—GFE PC HAUEEBESAIAE 2H2IS S/W
10,620,000 *14% 1,487
—HUPE PC HAUBEBSAIAE AISIE S
W 46,180,000 * 14% 6,466
ONIEE H=II= H0IME I ¢
6,981,000 14 6,981
ONSEDs 242 27 3|
9,000 x4 +5ed« 123 2,160
OAl 2X0IZMHIA OlEZ
200,000 122 2,400
OALIE oHeRHS AHIA
1,800,0002 122 21,600
O=HIoIE 245 <8 HIoIE 7Y
8,019,000& »2A 16,038
2 352484l 18,000 54,849 A\36,849
ONEE B U2 It
1,500,000& 122 18,000
202 048l 4,560 2,640 1,920
01 2L AL 4,560 2,640 1,920
OXsd=2st Hatel, 29, us A
60,0002 x2EH *x2 2 *43] 960
ONIEEES 3|9, s &4
60,0002 x2& x2 2 +42] 960
OXBEoF 519 & Ws &4
60,0003 x2Z 22«33 720




A OXNEEH D
Hu: Hos o2 23
tel: Xsd2st JIg =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OCINEAD|S ot2tsl &4
60,0003 x4 *x22 +43] 1,920
203 2=l 1,000 2,000 21,000
03 A=A PR FA| 1,000 2,000 A1,000
OZEs 33 g2
1,000,000 *14] 1,000
303 Zal= 4,000 4,000
01 Z&= 4,000 4,000
OGIOIEDIB ST PAl2l AlY
2,000,000& %12 2,000
ORPT BN H& 24AR Al
2,000,000& %12 2,000
=Eg SHIEE NS 200,702 215,690 14,988
== 21,389
Al 179,313
SHZAS UaA=E 29 200,702 215,690 14,988
= 21,389
Al 179,313
SHEF 2el 142,924 168,815 A 15,891
101 @124H| 23,958 24,846 A\888
04 JIZtN22 XS 2+ 23,958 24,846 888
Q20258 AFFHMIZAH2024E J1ZE AL HIZAL) 23,958
—S22IA 12|
83,2802 x 1 +28& *70% 1,633
— A2 AL Q124
83,2802 x6 & 28 x70% 9,794
—ZARKIE 2| At 2]
80,2403 * 1 »28L 7(fk 1,573
—olA e oIyl
80,2402 x8Z »19& *70% 8,538
—AHEEE S 2,420,000 %12 2,420
201 et | 117,766 3,529 A14,763
01 AR 22lt] 117,046 31,809 A14,763
OAZ SHZA S2ENR 42
80,2402 x42H x26 2 x7(fh 61,336
OsZAE WS
6,000 x42& +25& *70% 4,410
OSAH=A 222 7€
50,0003 *400H 20,000
OSAHAZAL =8 AIRES 728
500,000& *12] 500
OSAHZAL ZEMNESF Q1
3,000,000& %12 3,000
OSH &M ARIDN(SEED, B=2D1) &
NI 1,200
—=gJ| Sz 70,0002 123 840




2A:

Mo
Hu: 28

CINEE 21t
gt SHEE HS

©el SAHEZAML Hals 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
e -PSTIEE] 30,0002 122 360
OSHMEA 29 ADE
300,000 82 2,400
OSHAE X} &2t 40,0003 2505 10,000
OSHER =& ZAES 7Y
100,000 ~42&H 4,200
OABIZAF BTN 2K 22t
40,0002 *250F 10,000
02 S3=gHl 720 720 0
OARRIZAL A S8 28 7
600 *1,2002] 720
202 04| 1,200 1,440 A240
01 SLHoIH 1,200 1,440 A240
OSAHZAL A2 HREel & Azd
60,0003 x2& x103] 1,200
NSSH LS ?et ALK EEA 57,778 56,875 903
= 21,389
Al 36,389
101 21A4H| 9,432 9,204 228
s 4,716
Al 4,716
M ORNZZ2NSE S 9,432 9,204 228
OAMZIEAL 22l AL 21 24|
84,0002 x4 x15& 5,040
S 2,520
Al 2,520
OAIZ| ZAL S LHAR A 2124
81,0002 6 H 8 3,888
= 1,944
Al 1,944
OAZ| ZAIRE 282
5,040,000 *10% 504
S 252
Al 252
201 er2 3| 48,346 47,671 675
= 16,673
Al 31,673
01 AFS2t2ltl 48,346 47,671 675
OAMEIZ=AL ZAE & XIEA QIAHHI(3T)
3,000,000& %12 3,000
OAtRIZAL 24 29
12,000,000 *13] 12,000
OAF2I ZAF ZAHE ==&
81,0002 x28H « 12 27,216
= 13,608
Al 13,608




2A:

CINEE 21t

M 78 SHIE NS
ool SHZA HAYUE 2% (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAR2IZAE OIHIZZAHR =&
81,0002 x1H 1 81
& 40
Al 41
OZXADIF XX EellE 78
6,049,000& 12 6,049
< 3,025
Al 3,024
A 2SZHI(CINEZ D) 100,580 109,383 8,803
eIg =g 60,228 0 60,228
el 2d| 60,228 0 60,228
101 212A4H| 60,228 0 60,228
01 2= 60,228 0 60,228
OAIZtRIR R4
11,9502 x 142 +30A| 2+ 123 60,228
=& 40,352 48,260 AT7,908
Jl=3H] 40,352 48,260 AT7,908
201 er23| 11,552 17,780 26,228
01 At2teltl 11,562 17,780 26,228
OJlzgex=d 34|
9,000 x4+ 112 x 12 4,752
OAIR4 F==D|, SJI1EEJ| SR2eld] 1,860
—MSE FFD| G2l
35,000 x3CH =122 1,260
—AIRd SIIFEI| LRty
25,000 201~ 128 600
OZgH A28 F(EH, E8 )
500,000 42| 2,000
OfAM 28 225 78
120,000« 12& 1,440
OXME MRES 7Y
30,0002 152 +23] 900
OgRFd SAEA 7Y
25,0003 %122t A 23] 600
202 04| 25,200 26,880 1,680
01 =LHOLI 25,200 26,880 1,680
OJ22UEENI
140,0002 x15E < 12& 25,200
203 HR=H] 3,600 3,600
M A2 LRFEI 3,600 3,600
ORNEgg =AY
300,000 x 12 3,600




